SAP ABAP table JITCU SB {Seq.JIT Customer in Shared Buffer}

JITCU_SB-FPROF = CJITO8-FPROF 5 4

~
~

N JITCU_SB-KUNNR = VLPKM-KUNNR{0 \1 }

CJITOS

MANDT [CLNT (3)]

FPROF [CHAR (8)]

TTZ2Z

CLIENT [CLNT (3)]

| TZONE [CHAR (6)]

TVLV

MANDT [CLNT (3)]

ABRVW [CHAR (3)]

VLPKM

MANDT [CLNT (3)]

KDMAT [CHAR (35)]

KUNNR [CHAR (10)]

KNREF [CHAR (30)]

ABLAD [CHAR (25)]

ABRVW [CHAR (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

AUART [CHAR (4)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]




